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b -y 745, 126 370, 375 374, 751 sk sk sk sk sk sk sk sk sk skosk sk sk sk skosk sk sk sk sk sk sk sk ook sk sk sk sk sk sk sk sk sk sk sk sk skosk sk sk sk sk sk sk sk sk sk sk sk sk ook sk sk sk
0 ~ 4 22, 536 11, 658 10,878 | 35 ~ 39 48,416 25, 028 23,388 | 70 ~ 74 34, 005 16, 666 17, 339
0 4,516 2,336 2, 180 35 9, 607 4,995 4,612 70 6, 597 3,279 3,318
1 4,337 2,223 2, 164 36 9,792 5, 053 4,739 71 6,373 3,135 3,233
2 4, 564 2,382 2,182 37 9, 584 4,081 4,603 72 6, 683 3,307 3,381
3 4,471 2,333 2,133 38 9, 567 4,885 4, 682 73 6, 903 3,337 3,571
4 4,598 2,384 2,214 39 9, 866 5, 114 4,752 74 7,439 3,608 3,831
5 ~ 9 24, 853 12, 740 12,113 | 40 ~ 44 50, 436 26, 005 24431 | 75 ~ 79 37,582 17,223 20, 359
5 1,672 2,359 2,313 20 10, 146 5,295 4,851 75 3,163 3, 863 1, 300
6 4,704 2,397 2,307 11 10, 024 5, 150 4,874 76 8,410 3, 896 4,514
7 5, 175 2,719 2,456 12 10, 220 5,223 4,997 77 3, 831 4,008 4,823
8 4,995 2,573 2,422 13 10, 126 5,219 4,907 738 7,483 3,398 4,090
9 5,307 2,692 2,615 44 9,920 5 118 1,802 79 1, 690 2,058 2,632
10 ~ 14 26, 379 13, 463 12,916 | 45 ~ 49 53,433 27, 432 26,00l | 80 ~ 84 28, 155 11, 762 16, 393
10 5,401 2,781 2,620 15 10, 290 5,192 5,008 30 5,338 2,352 2,986
11 5,231 2,647 2,584 16 10, 389 5,324 5, 065 8 1 6, 400 2,663 3, 737
12 5, 220 2,643 2,572 17 10,817 5, 494 5,323 8 2 5,673 2,413 3, 260
13 5, 254 2,689 2,565 413 10, 770 5,574 5, 196 83 5, 653 2,326 3,332
14 5,273 2,698 2,575 19 11, 167 5, 843 5,319 S 4 5, 036 2,008 3,078
15 ~ 19 27, 257 13, 804 13,453 | 50 ~ 54 61,123 31, 169 29,954 | 85 ~ 89 17,872 6, 327 11, 545
15 5,216 2,646 2,569 50 11, 897 6,074 5, 823 85 1,218 1,584 2,634
16 5, 443 2,780 2,663 51 12, 265 6, 284 5,931 36 3,618 1,353 2, 265
17 5,194 2,598 2,596 52 12, 519 6, 300 6, 249 8 7 3, 656 1,271 2,385
138 5, 677 2,877 2, 800 53 12, 445 6, 355 6, 090 33 3,236 1,094 2, 142
19 5,723 2,903 2,820 5 4 11, 967 6, 156 5, 811 89 3, 144 1,025 2,119
20 ~ 24 48, 962 24, 250 24,712 | 55 ~ 59 54, 026 28, 138 25,888 | 90 ~ 94 9,143 2, 559 6,584
20 6,533 3,289 3,294 55 11,694 5,925 5,769 90 2,530 812 1,718
21 7,321 3,692 3, 629 56 11,792 6, 205 5, 587 91 2,139 615 1,524
22 9,893 4,778 5, 120 57 11,085 5, 778 5, 307 92 1,820 462 1,358
23 12,026 5, 800 6,226 58 10, 110 5,299 4,811 93 1,532 391 1, 141
24 13, 134 6,601 6, 443 59 9,345 4,031 4,414 94 1,122 279 843
25 ~ 29 66, 282 33,818 32,464 | 60 ~ 64 43,016 22, 481 20,535 | 95 ~ 99 2, 686 512 2, 174
25 13, 451 6,922 6, 529 60 9,890 5,162 1,728 95 335 172 663
26 13, 288 6,814 6, 474 61 9, 054 4,716 4,333 96 694 144 550
27 13, 456 6,822 6, 634 62 8, 457 4,367 4,090 97 527 111 416
238 13, 588 6, 890 6, 693 63 7,971 4, 149 3,822 938 356 16 310
29 12, 499 6,370 6,129 6 4 7, 644 1,087 3, 557 99 274 39 235
30 ~ 34 54, 405 28, 029 26,376 | 65 ~ 69 34, 121 17,252 16,869 | 1008 LAk 438 59 379
30 12, 206 6, 260 5, 946 65 7,417 3,771 3, 646 100 179 25 154
31 11, 362 5,814 5,548 66 7,095 3, 600 3, 495 101 107 14 93
32 10,617 5, 432 5,135 67 6,793 3,416 3,382 102 74 13 61
33 10, 256 5,297 4,959 68 6, 544 3,251 3,293 1035 0L E 78 7 71
34 9, 964 5,176 4,783 69 6, 267 3,214 3,053 | & if & 0 0 0
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A i i 3% ‘ ‘ # A i ‘ fiey $ ‘ % ‘ = A i ‘ fiey i ‘ ) =
100~ 104 417 57 360
100 179 25 154
101 107 14 93
102 74 13 61
103 35 2 33
104 22 3 19
105~ 109 19 2 17
105 12 1 11
106 6 1 5
107 1 0 1
108 0 0 0
109 0 0 0
11024 1 2 0 2




